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QUESTION 1

Which resource provides information about vSAN compatibility with other VMware products?
A. VMware Product Interoperability Matrices

B. VSAN Sizing Guide

C. vSAN Ready Node Configurator

D. vSAN Compatibility Guide

Correct Answer: D

Reference: https://www.vmware.com/resources/compatibility/search.php?
keyword=34857anddetails=1anddeviceCategory=vsanioandproductid=34857

QUESTION 2

An administrator wants to increase the capacity of a disk group cache device.
What is required to increase the cache device size?

A. Hot swap the disk group cache device.

B. Perform a storage vMotion between disk groups.

C. Put the disk group in maintenance mode and swap the cache device.

D. Recreate the disk group with a new cache device.

Correct Answer: D

Reference: https://www.driftar.ch/index.php/2017/09/05/how-to-delete-and-change-vmware-vsan-diskgroups/

QUESTION 3

Refer to the red question mark in the exhibit.
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Site A Site B

Cluster A— T VMs Cluster B—9 VNs Cluster A-7 VMs Cluster B - 9 VMs

ESXi Hosts ESXi Hosts ESXi Hosts ESXi Hosts

Dell PE R620 x3 Dell PERT20x 3 HPDL380G10x3 HPE DL380 G10x 3

vBpheref5 vEphere 0.5 vSphere 6.7u1 vEphere 6 Tul
VSAN 0.7 VSAN DT

"

Replication

10 Gbps Switch 1 10 Gbps Switch 2

Which VMware solution provides automated interoperability to failover and re-protect VMs from Site A to Site B, and
Site B to Site A?

A. vSphere Integrated Containers

B. NSX SD-WAN by VeloCloud

C. vRealize Operations

D. Site Recovery Manager

Correct Answer: D

To fail back from site B to site A (after failover from site A to site B), Site Recovery Manager licenses are required for the
"re-protected"” virtual machines at Site B. The "per virtual machine" licenses originally used at site A can be used at site

B for this purpose, as long as the licenses are no longer in use at site A

Reference: http://media.zones.com/images/pdf/lvmware-site-recovery-manager-faq. pdf

QUESTION 4

Which two VMware vSphere command-line interface utilities allow an administrator to project the impact of a host failure
upon cluster resources? (Choose two.)

A. vdqg

B. rvc

C. esxtop
D. esxcli

E. dcui
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Correct Answer: BD

QUESTION 5

A VSAN 5-node cluster has two sets of VMs, each associated with a separate storage policy.
-Group A (Storage Policy: FTT=0)

-Group B (Storage Policy: FTT=2)

What are two possible results when two hosts in the vSAN cluster fail permanently? (Choose two.)
A. VMs in Group B will become inaccessible if a third host permanently fails.

B. vSAN will rebuild data associated with Group A.

C. VMs in Group A might experience data inaccessibility.

D. VMs in Goup B might experience data loss.

E. A host can be put into maintenance mode without impacting VMs in either Group A or B.

Correct Answer: CD
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